SU 11: 
Essay questions

1.
Explain why an organization may choose to develop a cafeteria benefits plan for its employees.

Answer:  Central to the concept of flexible benefits plans is the realisation that most organisations= employees represent a diverse cross-section of individuals. Rather than trying to fit an Aaverage@ benefits plan to a varied workforce, a cafeteria plan allows employees to select individual benefits they desire highly and avoid those benefits they do not need or want. (For example, married couples who would have duplicate medical coverages would be able to delete one policy and use those benefits Rands in a more desired benefit category.) Moreover, cafeteria plans allow employees to tailor their benefits to their individual requirements or lifestyles. Younger employees can select a more comprehensive family health plan or dental insurance, while older employees can spend their benefits Rands on improved retirement or disability coverage. In short, a cafeteria plan allows benefits Rands to be spent in a more satisfying and cost-effective manner.

2.
Briefly discuss two individual incentive plans.

Answer:  Piecework is one of the oldest incentive plans. When piecework is used, employees receive a certain rate for each unit they produce. Their compensation is then determined by the total number of units they produce during a given pay period. The piecework system is easier to implement and is more likely to succeed when output can be easily measured, the quality of the product is less critical, the job is fairly standardised, and a constant flow of work can be maintained. Piecework has the advantage of motivating employees who want to increase their earnings. Although piecework has advantages, it is limited in that it cannot be used for certain types of jobs, such as where individual contributions are difficult to distinguish or where employees have little control over output as a result of mechanisation. In addition to this limitation, piecework may not be an effective motivator at all times. For example, employees may not exert maximum effort if they feel it will lead to disapproval from co-workers.

The standard hour plan is an incentive technique that sets incentive rates based on a predetermined Astandard time@ for completing a job. If employees finish the work in less time than expected, they are still paid based on the standard time for the job multiplied by their hourly rate. Standard hour plans are easily suited to operations with a long cycle or to jobs that are nonrepetitive and require a variety of skills. While standard hour plans motivate employees to produce more, quality may suffer if employees become careless and do their work too fast.

3.
Considering all methods, why is the point method the most widely used for job evaluations?
The point method is easily understood by managers and employees and provides a high level of face credibility. It is based upon an objective evaluation of each compensable factor. The point method evaluates the components of a job and determines total points before the current pay structure is considered. In this way, an employer can assess relative worth instead of relying on past patterns of worth. The point method is generally considered to be better than the classification and ranking methods because it qualifies job elements and better than the factor comparison method which is more difficult and complex.

4.
Describe why incentives plans you have received at work have been successful and/or unsuccessful.
Conditions for successful pay plans can include:

1.
Consistent with organisation culture

2.
Sufficient financial resources available

3.
Linked to organisational objectives

4.
Clear, understandable plan details

5.
Current, updated plans

6.
Performance resources linked to payouts

7.
Recognise individual differences

Plans that have most of these characteristics are likely to be successful ; those that lack the characteristics are likely to unsuccessful.

5.
Should employers provide child care?

Answer:  Child care is a rapidly growing employer benefit. The decision to provide child care can be made for social reasons, or, the advantages to the employer can be weighed against the cost before a decision is made. Employers with on-site child care or a reimbursement system can promote the benefit when recruiting job applicants. The increasingly female work force is likely to consider a good programme as a major benefit. Child care programmes have been proven to significantly reduce absenteeism, tardiness (especially on-site) and turnover. Employers can limit the cost of the programme by including it in a flexible benefits programme. Alternatives to on-site programmes such as referral centres, a voucher system with existing centres, or a consortium of small employers should be considered.
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